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Assignment #2
Cobb-Douglas Production Function

(10 points)

Due Thursday, September 22, 2011
1.
Suppose a production function is given by Y = K.4 L.6 .  Show that the first derivative is positive and that the second derivative is negative.  That is, make sure that the function is increasing but increasing at a diminishing rate.  Next show that this function also exhibits constant returns to scale.
2.
Using the same production function, determine the “Solow” production function (i.e. show the per capita production function).
3.
Suppose the production function is y = k.5, the savings rate is 20% and the depreciation rate is 4% with a population growth rate of 1%, what is the steady state level of output per capita?
4.
Now again, assume that the production function is y = k.5 and that the depreciation rate is 4% with a population growth rate of 1%.  Find the savings rate that maximizes consumption in the steady state.

